Palazzo in Luqa



Reference No: 240271007-146

Luqa, South



€1,500,000

Total Rooms: 11

Bathrooms: 2

Floor Area (m²): 912

P☐ Bedrooms: 3

Palazzo - For Sale - Luqa

LUQA - A unique palatial residence in this beautiful and tranquil village, rich in history and heritage is a rare opportunity to come across. Boasting of a magnificent 60ft facade one finds the entrance hallway directly onlooking a most wonderful back garden, living room, impressive sitting, separate dining room, kitchen/dining and bathroom. An imposing staircase which leads to the top floor where one finds the 3 double bedrooms, each having a separate entrance, bathroom and a wonderful terrace overlooking the garden, measuring over 1000sqm also rich in history with its original columns. Must be seen to be fully appreciated.

Features

- Entrance Hall
- PVC Piping
- Terrace
- Court Yard
- Space For Pool
- Back Yard
- Garden

- Electricity Utility
- ✓ Pool
- Central Courtyard
- Air Space
- Balcony
- Roof Terrace
- ✓ Pool Deck

Rooms

- Living: 4.6 x 7.6 m (34.96 m2)
- ✓ Sitting: 3.6 x 4.6 m (16.56 m2)
- ✓ Double Bedroom : 9.8 x 9.8 m (96.04 m2)
- ✓ Box Room : 2 x 5.5 m (11 m2)
- Double Bedroom: 4.9 x 5.3 m (25.97 m2)
- ✓ Double Bedroom : 4.9 x 5.3 m (25.97 m2)
- ✓ Bathroom : 4.5 x 3 m (13.5 m2)
- Office / Study : 2 x 5.5 m (11 m2)
- Bathroom: 3 x 3 m (9 m2)

- ✓ Dining : 5.5 x 6 m (33 m2)
- ✓ Hall : 2.44 x 4 m (9.76 m2)
- ✓ Kitchen/Dining : 4.6 x 5 m (23 m2)

Gallery





































Alana Camilleri RE/MAX South - Marsascala

M: 99727242

E: acamilleri@remax.com.mt

T: 21555000

RE/MAX South - Marsascala 60,Triq is-Salini, Marsascala, Malta